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; 100kN/mM%E#BZ5 | 1.00 | 0.00 ~ 0.74 111.10 |3mZEBAB| — ~ — — — | 100kN/mi%# 825 | 1.00 | 1269 ~ 1648 | 111.10 |3mEHBZS -~ — — —
Zh st 100|074 ~ 853 100.00 | Fhilst | 000 ~ 853|210 11.22 Fhst 1.00 | 5.00 ~ 1269 100.00 | =ns | 500 ~ 1648| 2.10 11.22
2 100kN/m#%#BZ25| 1.00| 000 ~ 087 11310 |3mZEBzB| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 1269 ~ 17.37| 113.10 |3mEHEZS - ~ — — —
Zhst 1.00) 087 ~ 866| 100.00| ThLs |0oo ~ 866|210 11.22 Fhs 1.00|5.00 ~ 1269 100.00 | =ns | 500 ~ 1737 2.10 11.22
3 100kN/mM&E#BZ 5| 1.00 | 0.00 ~ 155 123.63 |3m&xEZH| — ~ — — — | 100kN/m%#BZ% | 1.00 | 11.01 ~ 1622| 123.63 |3mEHEZS -~ — — —
ZzhnLst 1.00 | 1.66 ~ 9.33 100.00 | =nLSY | 000 ~ 933|255 13.66 ZzhnLst 1.00 | 5.00 ~ 1101 100.00 | #nst | .00 ~ 1622 2.656 13.66
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.84 86.58 | EnLst | 0oo ~ 684 |1.79 9.57 ZzhLs 1.00 | 5.00 ~ 840 86.568 | =N | 5,00 ~ 840 1.79 9.57
5 100kN/m#%#BZ25| 1.00| 000 ~ 1.05| 11583 |3mZEBz5| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 10.77 ~ 1394| 11583 |3mEHBZD -~ — — —
ZzhnLst 1.00 | 1.05 ~ 884 100.00 | =N | 000 ~ 884 | 2.30 12.31 ZzhLs 1.00 | 5.00 ~ 10.77 100.00 | #nLS | 6,00 ~ 1394 | 2.30 12.31
6 100kN/mM#ZH#BZ % — - ~ — —|3mEBZB| 000 ~ 019|518 17.01 | 100kN/m%E#BZ % — - ~ — — |3m& R B| 15.00 ~ 1527|318 17.01
ZzhnLst 1.00 | 0.00 ~ 6.66 82.67 | =hst | 019 ~ 656|300 16.056 Zzhn st 1.00 | 5.00 ~ 15627 82.67 | =N | 5,00 ~ 1500 3.00 16.06
. 100kN/m#%#BZ25| 1.00| 000 ~ 093 11393 |3mZEBzE| — ~ — — — | 100kN/mi% 25 | 1.00 | 1210 ~ 1522| 113.93 |3mEHBZS -~ — — —
zh st 1.00 093 ~ 871 100.00 | Fhilst | 000 ~ 871|270 14.45 zhst 1.00 | 5.00 ~ 1210 100.00 | =ns | 5,00 ~ 1522\ 2.70 14.45
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




